
Use the element clues below to place the elements in the correct location on the blank periodic table. Write the element symbol and the code (example 1B = Li)

1A   has a single element in the 1s sublevel

1B   derived its name from the Latin word for stone, lithos
1C   can be collected as a silver liquid in the electrolysis of table salt

1D   has a first ionization energy of 418 kJ/mol

1E   has a density of 8.96 g/cm3 
1F   is the first alkali metal with a completed 3d sublevel

1G   was originally identified by its Latin name, argentum
1H   is an alkali metal located in period 6 of the modern periodic table

1I    derived its name from the Latin word for shining dawn, aurum
2A    was used as a target substance in the Curie experiments 2B   is an alkaline earth metal located in period 3

2C   is the metallic component of the substance limestone

2D   is a transition metal with 30 protons

2E   is represented by the symbol Sr

2F   possesses a nuclear charge of +48

2G   is an alkaline earth metal found in period 6 of the modern periodic table

2H   is a liquid metal, originally called hydragyrum
3A   has a single electron in the 2p sublevel

3B   is a lightweight metal with a molar mass of 26.98 g

3C   is a transition metal with an atomic number of 39

3D   is a metal represented by the symbol In

3E   is the first member of the rare earth metals

3F   is found in group 3A and period 6 of the modern periodic table

4A   is the element whose common isotopic form is the basis of the atomic mass unit

4B   has a second ionization energy of 1577 kJ/mole

4C   is located between scandium and vanadium on the modern periodic table

4D   is represented by the symbol Zr

4E   derives its symbol from the Latin word stannum
4F   is a very dense metal with an atomic mass of 207.2 amu

4G   is the second member of the actinide series

5A   is the most abundant element in the atmosphere

5B   has 3 electrons in the 3 p sublevel

5C   is a byproduct of fossil fuel oxidation and represented by the symbol V

5D   is a period 4  nonmetal known since 1650

5E   is a member of both group 5B and period 5 of the modern periodic table

5F   was originally called stibium
5G   is located in period 6 of the modern periodic table, beneath niobium

5H   is a metal with atomic number 83

6A   is the most abundant element in the earth’s crust

6B   is a member of group 6A, known during the time of the Roman Empire
6C   is the first member of group 6B on the modern periodic table

6D   is represented by the symbol Se

6E   has 42 protons within its nucleus

6F   is a halogen whose crystals sublime

6G   was originally called wolfram

6H   is the fourth member of the actinide series

7A   has an atomic radius of 0.099 nm

7B   is represented by the symbol Mn

7C   forms a diatomic gas with a molar mass of 160 amu

7D   has a molar mass of 127.6 g

8A   is a group 8B metal known since the time of fhe Roman empire

8C   has an average atomic mass of 59 amu

8D   is located between iron and osmium on the modern periodic table

8E   has a nuclear charge of +45

8F   has an atomic mass of 106.4 amu

8G   has 114 neutrons within its nucleus

8H   is named after the Latin word for rainbow, iris
8I    is an inert metal often used in electrodes and has an atomic number of 78

Name _________________________________________________________________ Period _____ Date __________
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